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D) .

(A) Iurafsm (B) =faqor [] © ufgm e from fa(cing west at the beginning ?
Which direction are you facing now, if }2}! turn 270 degrees clockwise fr ©) East

(A) North-West (B) South (C) West

2. wwmah 15tﬁ2tqja‘?raﬂraam%,ﬁ;§;1r€ggm%aﬁt 10 Hiet srerar 8, R e and gear @ 3 15 e
TR | ﬁgﬁaﬁﬁgﬁﬁﬁwg%? ?;
(A) 20 0l (B) 18
o) L5 ol ©) dpHret left again and walks
A person walks 15 meterg east, then Wms left and walks 10 meters, then tums ‘le ag
15 meters. How far is he from the starting point ?

(A) 20 meters (B) 18 meters |
(C) 15 meters (D) 10 meters

3 Wwaé“@wm%mwmwmﬁmmﬁmwmmmm
(ifeRa snafefa 3 ) o freeor gty 3

HT AR AT ? ]
(A) 400 (B) 440 < © 300 (D) 399
The following pie charts represent the di ibution of candidates who were enrolled for an exam and the
candidates (out of those enrolled) who pij:d the exam in different institutes : : »
CANDIDATES ENROLLED = 8550 f"\ CANDIDATES WHO PASSED THE EXAM = 5700
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rac

- Wm

i?ﬁﬁj%mﬁi;ﬁ:;ﬂm% (B) aﬁmwﬁﬁs@fﬁ@amﬁw%
(©) mwﬁw&ﬁfﬂamﬁm% (D) ﬁmﬁﬁsﬁémqﬁq’@mmm

Read the statements and select the COF.feCt alternative
Statemeny | . Tray plays table tennis. i
Statemeny 3 . Table tennis is a difficult game[ ]
Conclusion : Tray plays a difficult game. td
From the above statements, we can conclude th t]
(A) The conclusion stated is probably false R
(©) The conclusion stated is definitely false Q}

> PR 8 e sy ey & v

Tegarding the conclusion.

(B) The conclusion stated is definitely true
(D) No conclusion can be reached

ol
(A) B (B) e () ©) Tw (D) =i
Which of the following shapes is different from the rest 9
(A) Triangle (B) Sphere (C) Circle (D) Square
6 T Rl w2 wiwr i afy 'SCRABBLE’ #1 ‘19318122125 % =q & RS T S R, 3wl e &
‘STUNNED’ﬁ%HWW%mW? M

In a certain coded language, if ‘5C
in that language 2

(A) 192021 141545

RABBLE'’ s,

(B) 192022141454

52 (O 192021 141454

. (

7. @H%mﬁaﬂtmm@ﬁﬁmﬁm,‘mﬁ%rmﬁﬁ%sﬁ%ééaﬁ
ERIR:COR D) ol
(A) & ®  B) 0=
(© wom (D) =t

Pointing at a woman, Nirmala said, S
is Nirmala related to the woman ¢

(A) Sister : L J

(B) Cousin
(C) Paternal Aunt {.‘J g
8.  STICII AEHTR ? ;c;
What is the next letter ? []
P:Q::T:__ :;'g;
(A) R B) P ® O T

Qg)ded as ‘19318122125°, how will ‘STUNNED’ be coded

(D) 192020141545

aﬁ%l”ﬁﬁmmmmﬁ

.” How
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9. yged : D) Fatd
) @ @) fREE © (
Curtains are related to fabric in the same way ag blinds are related to : .
(A) Slats (B) Lifters (C) Cords (D) Cove

10 Wﬂmw-mﬁa,ﬁmﬁmm% :
(4) EEFIE ®) ™4 © sfemAd () i &
Soap is related to Clean in the same Way as Perfume'is related to :

i hness

(A) Neat (B) Smell (C) Smart (D) Freshne

11, aft 3T <R A e 7 E E sl 180@3@‘aﬂtgﬁﬁﬁwmmﬁmaﬁaﬂt§3m

e (

(A) o (B) JH [(©) aforafem (D) Sw-gfaw
If you start facing South-West and turn 180 degrees §§ your right, what direction are you facing now ?
(A) South-East (B) North-East G(t) South-West (D) North-West

12. 140 ferenfefii < weferor 7 arm w1 o6 60 forameff i iy Germ ae @ £, 70 frenefi sER W ST THe
HA &, T 75 Foremefl SToeei 1 TerT weie o # | 3o aifafite 30 O TR 3 JMsee At Qet v &,
18 1 <ifal 7 S SFreeeR W AT At weie &, 42 1 i 1 3it TS W AR et wdE €, g 8 et
YRR h W TS § | I 3T HT AT 0 I ST 3t 1 T < 9t Mk S Qe ¥

In a survey of 140 students, 60 students like to play video games, 70 students like to play indoor games,
and 75 students like to play outdoor games. Additioﬁally, 30 students like to play both indoor and outdoor
games, 18 like both video games and outdoor games, 42 play both video games and indoor games, and
8 like all types of games. Use the Venn diagram to fEld the students who play only outdoor games.
A) 57 (B) 32 {C) 35 (D) 64

13.  ofEen & qu ded (A, B) 1 e iR B + A 31 7h 31 ifvr |
Find the missing numbers (A, B) in the series and ﬁ[:df the value of B + A.
25,36, 49, A, 81, B, 121. ‘é’;
(A) 146 (B) 125 {Cy 152 (D) 164

14. IMp>q=p?+q*dMp<q=p’-q2 M (1>2)<3=
Ifp>q=p®+q’ andp<q=p’ - g2 then (1>2) <3 =
(A) 720 (B) 840 (©) 600 (D) 480

15, Freaferien Srgshm =B st & Sifer v st 363 a1E 3 st s o0 3 AR
RK59#B2%*E?A8LSI4SVTIC6N@H13D
% et arer 2, Rt & e 5 e et v e e e e 2
Examine the following sequence closely and respong to the question that follows.
RK59#B2%*E?A8L$I4SV7!IC6N@H13D
How many letters are there, each of which is ir@gediately preceded and immediately followed by 2
symbol ? G
(A) 2 B) 3 (©) o D) 1



16.

17.

18.

19.

20.

R e gt g o 2 8, T F S R

Given the pattem in the provided Comblmﬁnons’ how Would yoy express the combination represented

by 7’ ?
AZ3B, CY6D, EX9F, 9 L |
(A) KXI18L (B) NZ2103" © G6win (D) 1V15J

ﬁnﬁawaﬁﬁﬂﬁaﬁéaﬁgq m‘”ﬂmﬁ"@ﬁﬁﬂ@aﬁﬁmﬁﬁo

1,1,9,27, 25, 125, 7,343

A
(A) 49 (B) 37 © 22 (D) 34

%ﬁ%mm%mmmmﬁo

Which of the following words has its lettefs In an alphabetica] order ?

(A) Collops
- p (B) EnvelopE] (C) Bloops (D) Adrops
RN EQl
e Qﬁmﬁhqaﬁtﬁm%fmw?ﬂmaﬁm
g @5—_> et Fraifirm) e
6\ Y
11 (3 —> e dm
VAN
AN
e 71 ST e vt = R T
) sl Bl i (© 20 (D) 16
Examine the provided diagram and res;{éf}d to the following question,
R
8 Q '— Employed people
6 :
113 qH—> Backward people
17\3| -
. A —> Educated people
How many individuals considered backward are nor educated ?
A) 31 (B) 22 © 20 (D) 16
0.05, 0.5, 0.25, 1.25 %1 HEwH @HIYEMH (HCF) ra Hife |
Find the HCF of 0.05, 0.5, 0.25, 1.25.
(A) 125 (B) 025 (C) 0.05 (D) 0.5



21.

22,

23,

24,

25,

26.

27.

. roffe 3 T 3 Faare |
%l T inder 3 in each case.

e B e g ifvre 4, 6,7, 8 39 ol 9 leaves the remain
Find the smallest number which when diVideCtB 4,6,7,8 and (D) 504
(A) 501 ’ (B) 510 o (©) 507 -

. o oy iferre T E 2
IE 30 AT T T Heg 40 T %ﬁmq\a@?w% al then what is the loss percentage ?
If the cost price of 30 t:bles is equal to the selfligg price of 40 tables. D) 30%

% ; st 26% 5
= G S @ © . # 5 Gt I 3@ Gl @ | 3 TE W Sl
T e bl 5wt T 10 4 1 S0 A 3N 393 &t ayfrs @t T 10 -

FT20H 9 R Y Ieyar R | TH T AT A W w2 2 .
(A) TEHIEmN (B) &I wfawrd 12%

19,
©) mﬁsrf%mlg% o ® g st 17 %

A fruit seller buys some oranges at the rate of-'-f{f! for ¥ 10 and anlcqual number?more at 5 for T 10. Then he
sells the whole Iot at the rate of 9 for 20. WHiat is his loss or gain percentage

(A) No loss or no gain & (B) Loss percent 12%
.
(©) Los (12 % = D) Gain percent 1-1—9%
S percen T [_j (D) Gainp 21

b d
083

aﬁm%maﬁraﬁ 115 o stz 21 §f Remr 2 1 2 17 wﬁr%ﬁaﬁ@ﬁmmw%ma

of rate ¥ 17/kg.

A) 2:1 (B) 2:3 ©) 3:1 M) 1:1
12.5%3&&%@%&1%9@%@‘&%? »

(A) 209§ (B) 10T ‘fjl ©) 129§ (D) 8ad
In how much time will an amount be doubled{'ﬁ!the rate of 12.5¢, 9 -

(A) 20 years (B) 10years ;?1';‘) (C) 12vyears (D) ‘8 years

Whﬁﬁ@ﬁfwmﬁlsoﬁﬁﬁﬁfm%mzowﬁﬁaﬁ R 1 3R 50 R i S
Ueh-=1T 1 forary ﬁ@mﬁmwmm%m%mmﬁgwﬁﬁm ARl i T
g7 (@

Indian Railways employed 200 workers to complete a certain work in

work had been done in 50 days, then to complete the whole work in ti
workers to be employed ?

(A) 300 (B) 200 ‘(C) 100 (D) 600
lzgwaﬁtlsqﬁaﬁ@mﬁloﬁﬁﬁmm%wwaﬁt}wﬁmﬁﬁmﬁ12&q*1ﬁ—q—,-{m
%lwﬁzgmaﬁtﬂ%mﬁ@mmwﬁmi?ﬁ&ﬁﬁﬁﬁﬁﬁ{gmm%?

(A) S0Rm (B) 60fA (©) 8ofe (D) 70 fay

12 men and 18 women can do a work in 10 days. 9 men and 18 Women can do the same wor i, 12 days.
If2 men and 3 women together do the same work, in how many days will they complete the work 9

(A) 50 days (B) 60 days (C) 80 days (D) 70 days

e e — e ———————m
__________

150 day§. If only one-fourth of the
me, what is the number of additional

T i -



28.

29.

30.

31.

32.

33.

34,

3s.

et er i 32 PR oy o i et of e & T T
: 59 ferrt/ereT 1% 2 | famadi

iwn@,%ﬁﬁi?ﬁ;;ﬁa@wﬁa%@%ﬁlsﬁaﬁ-ﬁmm%ﬁaqﬁaaﬂﬁmiﬁmﬁﬁ

SIEIERIGET Ly

(A) 1243, 8) 1237 © 170, (D) 1207

o ok R in the
Two trains travel in the same direction at 55; km/hr ang 32 kmy/hr and the faster train passes a man
slower train in 16 seconds. Find the length of the fagter ¢ .

(A) 124m B) 123m © 170 m (D) 120m
67‘=ﬂ?{€1‘iﬁ§?lomﬁﬁmﬁwaﬁww%Ié?‘gm“tﬁz(;ﬁqﬁzﬁﬁq(@%_@aﬂﬁﬁaﬁm
F & T 1T g g T | o .

(A) 55%%s (B) 4.5¥HS (@) 6.7 %%z (D) 8.8 ¥FT

A 67 meters long train crosses a tunnel of length 3‘3: eters in 10 seconds. Find the time for the train to
cross a man standing on a platform of length 65 meter§.

(A) 5.5 seconds (B) 4.5 seconds [(S;) 67 'sdonds (D) 8.8 seconds |
ﬁﬁaaaﬂtﬂq\aﬁrmz;1%agmaﬁ%|és:3%3§§qmﬁ@a‘m%3ﬂr4:1%agmﬁaaaw%%lwﬁ
ﬁ%aeﬂtﬁqaﬁﬁgaﬁamqmmflo,oog , T ek o) AT T FI AT |

Nikhil and Reetu eamn in the ratio 2 : 1. They sp_en([fp the ratio 5 : 3 and save in the rf;ltio 4 : 1. Find the
monthly income of each, if the total monthly savings,af both Nikhil and Reetu together is T 10,000.

(A) T2,000,T1,000 (B) %8,000,% 4,000 ((G) T28,000,%14,000 (D) % 10,000, % 5,000
Q%qﬁmﬁ@msﬁmaﬁmm%mm%ﬂu Il & IO B AT ® | T A B &

Wﬁﬁwso%mﬁrm%ﬁ%ﬁﬁﬁﬁﬁézommmm%Wﬁﬁ%%ﬁmaﬂam
v R TR 2

In an examination, a student who gets 20% of the maximum mark

scores 30% of the maximum marks, gets 20 markg more than the
for passing is : e

(A) 22% (B) 20% ‘5&) 42% (D) 27%

@ﬁfsamrr&rqtaaé%%w%ﬁaréamnﬁ}mf 1,600 | 3 T % A% WUE R el s
(ATt &9 & T =) g if | O

: . : & .
The simple interest on a certain sum of money for fwo years at 5% is ¥ 1,600. Find the compound interest
at the same rate after 3 years, interest compounded gnnually.

(A) T2,555 (B) 2,355 EC) 2,520

12-02-2022 & 11-02-2023 dF 15% i o it qr = 73,000 T HTUR =7 2 -

The simple interest on T 73,000 at the rate of 15% per annum from 12-02-2022 to 11-02-2023 is :
(A) T13,450 B) T14,750 (C) 12,050 (D) 10,950

T 475 3 3T 15% T2 TSR ) T e Rt e d 9

What is the discount on a pair of shoes marked at {:;]75 and discounted at 15%, 2

(A) T71.25 (B) ¥75.25 <o) 70 (D) T72

U THMER U o & Sifrd ged W 10%#;;3%5_%?{%2231%“@“ 8% 1 fershi =t Tmman | Af

P T 6 e st 3 0 3 € 34,020 31 syrer s 3, o Sifeee e R 2 9

A shopkeeper allows a discount of 10% on the m;(diid price of an item but charges a sales tax of 8% on
0.

s fails by 5 marks. Another student who
passing marks. The percentage required

(D) 2,522

the discounted price. If the customer pays ¥ 34,0 s the price including the sales tax, then what is the
marked price ? (&

(A) 39,000 (B) ¥ 38,000 "3C) 34,000 (D) %35,000

-
S e rcrcrm e e - ---
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|
36. hoin ;
If the average of x and -)lz (x#0)1sm, then the average of <2 and ;2_ is - |
A) 2m?-1 (B) 2m>+1 © 1-3m? D) 1-2m \
37, 9 ST A gl o AT 132 R, A Treht i sifiy Gl ot S T HIT |
| If the average of 9 consecutive eVen numbers is 132, find the difference between the first and the last
numbers.
(A) 16 (B) 18 o B it

38, <act ¥ e e # 25% ﬁaﬁia“ﬁ""ﬂww,@mﬁ%l,zooﬁ 6 o m =Tae wie T € | SEa
a1 wfer feram simfyes e T o1 2 <

As a result of 25% hike in the price of rice per kg, a pertsq}L is unable to purchase 6 kg more rice for
% 1,200. What was the original price of rice per kg 2 X

(A) T50 (B) T60 € T 04 (D) T40

39. aﬁm%wwﬁaﬁaﬁsm@ﬁm%@q)%aﬂtm@@@m@mwm%sﬁm%
TR () I Pl 8, T IR ST (3873 557 TTeh T 2y 2
(4) TG (B) WAl Gve) () weyw GwE) (D) AT (e

If you have a regular icosahedron and you slice it along a plane that intersects six of its faces, what is the
shape of the resulting cross-section ? .

(A) Pentagon (B) Trapezoid (C) Hexagon (D) Rectangle
40. ﬁwﬁrﬁ%ﬁg@mﬁmﬁwzﬁwaﬁﬁm ]
Identify the incorrect number in the following series. L::]
4,7,13,21,34 ]
(4) 13 B) 34 © 75 D) 21

. . _ ¥
41. ﬁqnqﬁsrﬁmﬁmaﬁmg)ﬁmmﬁﬁq: 7]
Find out the number of the cubes that are arranged in the ﬁgi(fe given :

)

NS %

N\ 5
V7 ¢ :

(A) 18 B) 17 © 2] (D) 16
42, wﬁ?ﬁwmmmﬁwaﬁmmm%ﬁaﬁaﬁmw:ﬁ%w%?

If the sum of three consecutive even numbers is 78, what is the second largest number ?
(A) 26 (B) 28 (C) 24 (D) 30

, :
s FOLJ Ll

e

GWZ-24. Page 8 of 24



g3, FmEEAC

Choose the odd one out.

A) KL B) QR Ll © az

. (D) FG
44, ﬂ@ﬁﬂmmmﬁﬁmuﬁmaﬁﬂwr@wp
Find the mirror image of the figure, if the mir{o} is placed at XY.
X i
, ()
;
: L
L
L
Y
(A) E:]] 2
9
e
iy
2
©) L
+3 (D)
45, ARt & Fngsit <) e i
Find the number of triangles in the figure. f]
]
hu-:j"’
fyd
0
i
(A) 9 (B) 8 (%)
©) 12 D) 16
46.  3rfier Y i g Afea :
. AR R, St 0t ) el A & | e o & B S
Heft R 2
(A) w=& (B) =& ) w (D) =Tt
Pointing towards Aneesh, a woman said, “fjg mother is the only daughter of my mother.” How is the
woman related to Aneesh ?
(A) Sister (B) Daughter (C) Mother (D) Grandmother
T —

Page 9 of 24
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47. AEN (1,2, 3, 4) -3 B T4 § - e, «,,,‘Immﬁﬁaaﬁﬂ:ﬁ%agwwﬁﬁ%wii%ﬁlﬁ

e 5 et 1 7 o o oo 35 et v

RIS | o
G_Eﬁ“ﬁ‘ﬂqéi 14 i i
(A) 11—, 2 e, 3 - T, 4 - FT (B) 1,2 A, 3 T, 4 -

(€) 1—%,2-3@,3—@%.4"% l(&) 1-%@,2—%,%@35,4_@3 |
Four people (1, 2, 3, 4) each pick a dl-fferem fruit — 5 jple, banana, Che? and date, }Th P irs:i’nhwzo picked
the apple is next to the pcrson.who picked the banana and not next to the person who picked the date. The
person who picked the cherry is next to the person whe picked the date.

The correct combination is :

(A) 1-Cherry, 2 - Banana, 3 —Date, 4 — Apple (B) 1-—Banana, 2 — Apple, 3 — Date, 4 — Cherry
(C) 1-Apple, 2 —Banana, 3 —Date, 4 — Cherry (D) 1-Banana, 2 — Cherry, 3 — Date, 4 — Apple
48. S ok weelt gt (X) # RUTC garst & g SR TS S el § |

Find out which of the figures can be formed from the pieces given in the first figure (X),

* l
N

-
bﬂ%

e T

«

(X) @;
(A) (B) (©) (D)

49.  37|UH et g fifvi |

Find the dissimilar numbers. N
(A) 16,25 (B) 49,81 ldy 8,27 (D) 4,9
50, ﬁnrraf@aﬁammmfaw%mﬁ,maﬁw%ﬁmm%mmﬁm%?

Which of the following diagram/set indicates the rel;thci;)n between women, mothers and parents ?

()
» (O ®
o
G
(C) (D)
51. wgv g iR |
T B O - ?
A) fix (B) afe ©) = ©)
Complete the analogy.
Glove : Hand : - Sock : ?
(A) Head (B) Am (C) Foot (D) Shoe

-
- -
T T T e r e, e e, e
—-...._-_-—_-___-_—_-__________,_________.._.-



|
52. WIGE QAT
sfafter-an ; i 4« MAra : 2 .
(A) K (B) &3 STeT™ (C) wAgsHht (D) ®wsfat
Complete the analogy.
Astronaut : Spacecraft : : Diver : ?

(A) Car (B) Airplane (C) Submarine (D) Bicycle

53, @ﬁaﬁaaﬁ@%mﬂ%%ﬁ%ﬁwmgﬁ;@w@mmmmwﬁ|q&umaqgm-m
(FRH-HeFT) T ATHR HTR 2
(A) g (B) fiwae (C) Wad (D) =«

A cylinder is intersected by a plane inclined at an angle of <fr,:degrees to its axis. What is the shape of the
resulting cross-section ? ‘

(A) Ellipse (B) Hyperbola ® P;E%bola (D) Circle
54. aﬁCATwﬁgDBU%jﬁDOGmmw%? ("":
If the code for CAT is DBU, what is the code for DOG? =

(A) EPF (B) EPH ® DRE:' (D) EOF
55. ﬁg%agw,aimo, 1,2,3, 4 R HT: A
|

According to the code, di
[(B+E)-(D+ A)].

,B,C,D,Em%hTmm%l [(B+E)-(D+ A)] 91

gits 0, 1,2, 3, 4 are represented by A, B, C, D, E respectively. Find the value of

A) 2 B 3 © 1 D) -2
56. @ ST G wr St 0 N
What will be the next number in the series ? ‘q
3,6, 18,72, 360, .. ]
+ O
(A) 2160 (B) 1820 © 2180 (D) 1260

57. @;M%@WA,B,C,D,EWF&,%%@% | D firer R ofk E vy firar 2 F, E i 3t
2 SR TR R Y ) C T Tohiet @ 3 A & frarfim 2 BIIAR | B, E & e o wisifera 2
(A) =¥ b (B) wmt

i ples. D is a teacher and the
father of E. F is the grandmother of E and a housewi ' '
How is B related to E 2

(A) Mother (B) Aunt (C) Sister (D) Father
58, qa;aﬁtww%aﬁa@e,ﬁrm| 0
oo T2 efer et o | g
?qﬁﬁiﬁﬁﬂg?ﬁw%:
(A) FeE (B) Mz (C) »@mw (D) fRwm
59, ﬁu%mﬁﬁﬁq-mwmwﬁ%? O
(A) vy (B) ¥ (©) gﬂm (D) A
60. 1o 2t o e wer ey 8, A wm A ®
(A) dey , (B) wgmmoT (C) 3rcquTT D) Wgmegsw
7 e P A S

Page 11 of 24



61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

4.

75.

(Tﬁgfﬂm B) FIE-FTE () eI (D) e Tt
5 Wagqﬁ;mmﬁ%m&’ﬁ?mﬁ%? '
(A) @ @) f= (©) Tm (D) 9
e < T e AR g R
A) e rcI IR ERIS] (B) AT AT i1 ST T
() et i T ® (D) 37T ST el &
‘Wﬁwmﬁ’mmﬁm%@mmﬁqmw%?
A) T ®) T (C) e D dww

%ﬁm%mﬂmmﬁw%m{%mﬁqﬁ?
() TEEEIER (B A (o e (D) ghmreT b

o

ﬁq%ﬁgaﬁﬁ‘aaﬁa’waﬁméﬁﬁlﬁ%%éqm%?
(A) T +T4 B) TMHFE (0 W+Tw (D) TW: +JE

2019 7 IfEe ST TEERTC R THTSRTE 34 foa 1y 2

(A) TefFIRAEE  (B) m@ﬂﬁﬁq 'Uf; (C) Trwrawar firer (D) wTfiTer fifm

T § AT AN © ? ~

(a) fay (B) EHhfE (C) ¥=mE (D) g

S T T T 8 H o R

(A) HYT PSR T el . (B) Helx et anfiman

(C) wEErd BT [;;l (D) TEYTSH &Y Y WaT 2T
ﬁw%f:@ﬁﬁ%aﬁmm‘aqa’wwwhaw{fr%gqﬁ%?

(A) ®) s - (© g (D) &R

HH-A1 90 G T R 2 )

(A) T (B) < [’! ©) @ D)

B e o 0 e e e R &

(A) THREEE (B) ot v (©) IR FFT (D) I ewT

et o 3 e e v e TR ¥ e T w1es ST |

(A) = (B) e (C) et (D) 3TgAIE
mwﬁwmmmﬁaﬁmmmm?

3 — YT, TSI, 33T, foerent "

(A) HATHI, 3T, 3TH, 1 _ {Ill (B) 3T, =, 31T, AT

(C) 3, S, 311, =6 [ (D) =T, g, A, A

(A) W@ﬁwﬁﬁa@mﬁéﬂ (B) area Y wer 2 o, TRt a1 vt 1 I e s
_(C) TEERAT R 31 20 7 ® () ITRATIGTFRIRET
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o 3 o @ el Tl bl T

76. oy, T (B) S;Jﬁnq Hrc‘*r (C) T, (D) TEeR, Sdr
7. (;'j” ,;\T“;m (;T)RT Sl (C) TR (D) Fz
Frferfa i & TR 3 Y T 1 SR IR
= e (B) e & o rfvat £
() waH sH | (D) W@ apehi i &
79. fomeausfuge:
4 () ®B) (1) © ) D) (-)
80. R A & 3T e ot s ke F A gan g
(A) 37T, THER R | <] (B) 3¥=a1 8 g andt s |
(© T a1 R S s [] (D) % T gd s |
8l YWETR AR &% '
(A) T (B) g=tg® () (C) uaw gy (D) I&AM
82. I W& 1 HHIIE FT R 9 Eg
(A) gt ®) frw @ (©) 72w gen (D) T TRy
83.  Traforiian & & e vz i 2 9
(A) & B) ©) & (D) =T
8. T ALAN A TR R s w2 o
(A) TFRHIEE  (B) g adam (C) dfer adum (D) 1T Sdu
85. ‘mﬁa—mﬁa’m-@q?ﬂw%m%q:
(A) = - 3Py ‘:§ (B) 7@ -fr=
© frmaes-smfs L] (D) 3tfE — Freret
86. ‘mwﬁwgﬁ@m’—@ﬁﬁsm%m;
(A) THEd 3 Qo= Sy D (B) w@mgmm
(C) St aFEFE o (D) ¥ < W7 =1 3 fye s
87, Ford Tt & vt w3 o o it
(A) TIFTG (B) W™ ©) T (D) gy
88.  frmiferfiaa & & - g & 3 7 2 0
(A) ™= (B) 3G (C) var (D) W
89. GHTE =1 IMfsqe a7 2 -
*) fo ®) fredz E-:]] © ©) Fre
(.H. 908 94 TTeriyr way) E] |
mwmmmﬁmwwmgﬁmmﬁmmﬁaw%m%mmmm

Wﬁaﬁam%a?%,aﬁmﬁm, e, uﬁsﬂrm@mmﬁmwwmﬁmﬁwﬁm%lﬁﬁ

YT} . e p

ﬁ.ﬁm%ﬁ\ﬂﬁ%mﬁﬁm [ %mﬁﬁm%’m%mﬁqﬁm§ﬂwﬁﬁ
ﬁaﬁmaﬁmaﬁmmtﬁﬁm%w i e o i - e 17T
GWZ2d, T i
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76, @1 A I B A w1eat AT

asf, ST (B) ST, ST (©) &, (D) TR, St
(A) ’ :
T ¥Te2 3 g wataaT=h 3es g : .
” (A) rﬁf%: (B) <iHha ©) W (D) iz

Freferfiaa 3 @ a1t o % &9 1 < e
" e

(B) A ar3ent st 8
(C) WA S SAMT & |

(D) G # st iy &

79. foremavs e

A) (:-) B) (1) © () (D) (-)
80. mwﬁ‘m’wmmﬁwiﬁﬁqﬁg@%?

(A) 3T, T0 ETSIRAY | < (B) #1318 98 anft st |

(€) T 3 fopa < sy ] (D) & T 5igq a1 2

8l SOETTC & T E &% '

(A) T (B) gz () (©) wew iy (D) T
82. I I3 1 EHi=TehE T 2 9 Eg

(A) et (B) Frrx ®) (©) T eTmErgan (D) ST Srerooy
83. ﬁq{‘aﬁmﬁ%ﬁqmmgﬁﬂn%?

(A) &= (B) dfa (C) &mr (D) =z
84. aaaqéa‘m‘rﬁﬁﬁz‘ta@gé%mwamﬁﬁmmm%?

(A) THFRHIT  (B) amradam

85. ‘awaﬁ—q'—wﬁ-ﬂ’m-gmmnﬁﬁmgﬁq:
(A) - e J (B) T frex
© Frmdas_amyfy U

< (D) g - whrsret
86. ‘meﬁm@ﬁ@m’ﬁhﬁ%maﬁ%’m:
n

(C) wiTy admm (D) ETT ST

(A) THIS T W oy sy

(B) F31 Grea qoa

(C) et 4w ey o (D) W2 & Wy s/ 3 frw wrer
87. ‘ﬁﬁmﬁwwﬁ’%%@@m&‘%‘:

(A) = (B) g (©) g (D) Fy=m
88. ﬁw%r’r“@aﬁﬁﬂw-ﬂwfimwﬁ%?

(A) I (B) 3frg (C) 3Iare (D) WEE
89. GH 1 yfeqe aref &

(4) fomre (B) fosaz E} () wfm (D) Frem
(H. 908 94 Teriv way) .



%,mﬁﬁaﬂﬁﬂﬁm“m‘”"o'w[ﬁm_ﬁp@zqﬁmaqm@maﬁméu%ﬁ}mmmﬁm
%lwmﬁﬁﬁwﬁﬁ%ﬁmﬁgwmmmmﬁmﬁm%l
e ICC]
EaRZ L] e e P rtfon T T ST AT R, i
90. MY Wﬁmwﬁmmﬁﬁa‘?ﬁmﬁl ' \
?;Gmﬂémmﬁﬁqﬁmggﬁﬁmﬁwqﬁ§wn
EC) foprer 35 5 A 5 €T €
D) ,ﬁmqﬁagqghmqﬁaﬁﬁﬁﬂm%l
.ﬁpﬁnaﬁmmﬁﬁméﬁwﬁm%,mw%a@j .
o 3 )\ argar & T | (B) I 1Y ot faeftre o st |
(A) SRS TE A G A
() ST R T Y e A e S (0) sl A S A
92, T T WA T et i SHET 3 it wwfine viewrey 2, it
(A) T forg o feredarss wifRdli § wenfia 2 | (B) SHHRVITHITATE qH ST @I R |
(©) T s e A B D) ag@mﬁmmmmm
93. R} g faren it waifsd TEEEI A R ®)
(A) sfaa e fam | (B) ifcrhiet sha o1 waamad |
(C) fta =T yufrem sfifees fasm | (D) St 1 garior faemm |
94, T S1aH I T S © HE Teh Tohall € 2
(A) Y-S T IO T ITH Heh (B) W Tl <h1 TorTer ek
(C) iifdren St ot forerteor sveeh (D) iﬁz&-wﬁwnﬁﬁﬁmﬁm
95. @wﬁﬁﬁ@ﬁﬁ%’ﬁzs%mqtémmf’q'ags@r%%ml%@ﬁmaﬁtsﬁfnzmﬁm,ah@ws%
1 T I | HT 1 5621 Hesl 9 9T 9 @
A person sold a horse at a gain of 25%. Had he bought it fo‘{:‘gs% less and sold it for T 732 less, he would
have made a profit of 36%. The cost price of the horse was - o
(A) %1,500 (B) %1,800 (C) T2500 (D) %2,000
96. (T EXAMINATION % VCZNRMZGRLM % &9 3 w%m ST ®, @ WRITTEN ! foh Yot dhesig
fora s 9
If EXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded ?
(A) DIPGGMN (B) DIUGGMV (C) IDGRGMV (D) DIRGGVM
97, @%mﬁ,mqmﬁméaﬁmﬁﬁg,sﬁwm%lwﬁ@ﬁw%?
In a class, Sambu is ranked 101" from the top and 36th frorp\The bottom. How many students are there in
the class ? '
(A) 43 (B) 44 (®) 45]2 (D) 47
8. K L#Iwlid oM, Lfragad) N, KA1, wafs 0, AR 31 OF K AFw ¥ 2
(A) frm ®) =t (©) i (D) &g

- - e, — o

\

i
oy 10 A 5 ST | SRR < &z o g b 75T S STl &, T T STt o sy

K is L’s wife and M is L’s sister. N is the daughter of K, w?a{}e O is M’s mother. What is the relation of O
to K ? =

(A) Father (B) Mother (C) Mother-in-law (D) Father-in-law
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99, siEe H ST WA F1a HifSY 6, 24, 120, 720, :3.
. }:ind the next number in the series 6, 24, 120, 720’imﬂ— |

(A) 5400 (B) 5040 fiM;‘;a(C) 5440 (D) 5004
100, ke d A frew G R )
Find the odd one out from the given series : 1;;
486, 482, 478, 474, 472, 466, 462 S
(A) 474 (B) 472 “(C) 478 D) 466
101. @wsoﬁﬁhﬁamﬁ%ﬁnﬁrﬁzsoﬁmﬁtﬂaaﬁ@mm%,wqﬁmﬁ - )
(A) 42 (B) 6% ©) st (D)'iﬂﬁﬁ' S

to complete the journey ?
(A) 4 hours (B) 6 hours ..(O) 5hours (D) 7 hours

102. Frferfies st & o wem S 2 o -]

What is the missing number in the following seque“;1 e?

3, 18, 90, 360, 1080, 2160, ,0 -

(A) 360 (B) 0 QS(C) 2160 (D) 1080
103. e = sureht s By 11, 39, 75, 119, ]

Find the next number in the series 11, 39, 75, 1?,535 .

(A) 181 (B) 191 ) 161 D) 171

104. 7/ INSECT %1 JOTFDU, HOUSEFLY IPVTFGMZ % &% % g, e smar 2, 4t BUTTERFLY #i

IfINSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERFLY will be coded as :
(A) CVUUFSGMZ (B) CVUUSGMZF (C) BVUUGMSG (D) GMGUUCVF

105. 3¢ 95474 1 KGFIF forar ST 2, 4 82143 Eoe | Ell )
1£95474 is written as KGFIF, then how wil] 82143 be written ?

(A) JDCEF (B) JDCFE L__:,J(C) JCDFE (D) ICDEF

106. A, B aﬂrcaﬁraﬁmmeomm%mﬁA%Bemaﬂmmm%a‘rm%mBaﬁrcmaﬁw
a5 70 el 8, @ B A as R 0 i
(A) 21 frem (B) 20 fraimmm 38(C) 17 Rreinm (D) 18 Fretmm
The average weight of A, B and C is 60 kg. If thg;average weight of A and B is 30 kg and that of B and
C is 70 kg, then what is the weight of B ?

(A) 21kg (B) 20kg €) 17kg (D) 18kg

107. 40 ST 1 UF FEH, 15 B ke e § 3 15 BT 2 W €, 3 S o A Qe v ) A
1 off et T Ger A e B e 2
In a class of 40 students, 15 students play cricket and 15 students play tennis, and 5 students play both the
games. Then the number of students who play neither of the two games is :

(A) 25 (B) 35 ©) 15 (D) 10
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108, fear™

109.
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o = ey v 3 R B (RS 2 ) ) it &, < i At fan (desedh sref
herTa 3 oY T A Y AT ST T R |

]
@Mﬁqﬁmm%m%w@ﬂﬁﬁﬁﬂg%mmwmaﬁ%%m AR 20%
P 1 ST T §T, ST Gl it et foperet i worr et ot s & s =i 2

(A) T4845FIS (B) T5254FAs &% () T5892 %S (D) T 5500 FE

The given pie chart illustrates the various sg;irces of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phats%éi Projects.

External Assistanc;e
11,486 E"”

Market Borrowing
29,952

To support the project with % 4910 crores through toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total amount that the outsourced agency should be permitted to
collect ?

(A) 4845 crores (B) %5254 crores (C) ¥5892 crores (D) ¥5500 crores

Y, XFEAR, Sz Fgm A2 aRkp, ZHIMqu AR drp, Yy Fframd o

(A) I (B) afvrufim (C) ITufm (D) =fior.gd

Y is in the East of X which is in the North of Z. If P is in the South of Z, then in which direction of Y is P ?
(A) North-East (B) South-West (C) North-West (D) South-East

------——-——-.______--.___________________________.______H--___-_____
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110.

fefafaa mﬁmmmﬁml |
Find the incorrect number in the following series.
1,12, 144, 1782, 20736

(A) 144 B) 12 (©) 20736 ©) 1782 .
111, T o1 O I i i 30 g, 0 A 3 ey o 3y e " TEH =1 Tk W w1 Gy
?
Z) e ®) = © forr (D) wé |
Introducing a boy, a girl said, “He is the son of the daughter of the father of my uncle.” How is the girl
related to the boy ?
(A) Sister (B) Mother - ) Father (D) Brother
112. wﬁﬁmﬁ@mﬂfm%wﬁmmﬁmaﬁ 5 o s o
(A) afor (B) sfiorufim ©) smuftm (D) Iuqg
If West is replaced by South-West, then North wil| b€ yeplaced by
(A) South (B) South-West [(@) North-West (D) North-East |
3. T HTele der e Rt 0 gg
(A) whz (B) T detferay
(C) aiiTeT gefi (D) Ferfiuet et
Who wrote “The Scarlet Letter” 9
(A) Mark Twain (B) Herman Melville
©) Washington Irving ) Nathaniel Hawthorne
114, @Wﬁﬁhﬁ%ﬁamw#ﬁmﬁaw% ‘ %q?ﬁsmﬁ%m%ﬁ‘“@mﬂmgﬁm%?
(&) Fe (B) Fwmm 1) g (D) Faa
Which social media platform has a feature calleq « eaks” to €ncourage frequent communication between
users ? 3:
(A) Snapchat (B) Instagram (éb) Twitter (D) Facebook
H1S. - oerer Tt o trorer) et feere off o e
() (B) g ®C) i (D) wgwd
The capital of the Pallava dynasty was located at
(A) Thanjavur (B) Mysore ©) Kanchipuram (D) Maduraj
116. ﬁa‘mﬁama‘léa?ss)wm%?
(A uaﬁwmﬁa%aﬁaﬁﬁaﬁammm
(B) awq%rm%sﬁa:fé%:ﬁam WS T ey
(C) =@y Y i S 3 e s it
(D) Rﬁ?ﬁﬂﬁiﬁwgﬁfﬂﬁw%l =
What does the Financial Stability Board (FSB) do ”E‘)
(A) It provides financial support to developing cuntries,
(B) It manages the foreign exchange reserves of *¥member countries.
(C) Itregulates interest rates for central banks worldwide.
(D) It ensures financia] stability.
GWZ23



117. el 35 TS AT o5 & § i L T o 2

D) A S=a
(A) T TgehIoT B) femug (©) TEEE@EH (D)
Who was chosen as the brand ambassador of GST ? Lase
(A)0 Deepika Padukone (B) Shilpa Shetty (C) Shah Rukh Khan (D) Amitabh Bachchay

118, Frferaa & & - v wiw SR F e fr gy 29 _ @m
(A) S5 g (B) 4931 Taet ey (C) Rpmhie aET §D) SIEG)
Which among the following lines is a boundary between France and Germany .
(A) K-WlLine B) 49" Parallel Line (C) Siegfried Line (D) Senger Line

119. fRer AR WEIFRRe™ (DGFT) ﬁmwémmhm% ?
(A) W, Y 3R HeAw IgH WA M
®) fRw 7]
() ford vATE™ []
(D) AT TG JANT HAer b
The Directorate General of Foreign Trade (DGF”[t) “domes under which Ministry ?
(A) Ministry of Mirco, Small & Medium Enter;ﬁ-l-ges
(B) Ministry of External Affalrs o
(C) Ministry of Finance )
(D) Ministry of Commerce and Industry

120. T S oh I o fore -a o Saws 2 0

(A) fferria (B) TERA T (O) FEA (D) Fifaw

Which element is essential for the production of Eticlear energy ?

(A) Silicon (B) Hydrogen /] (C) Carbon (D) Uranium
121. et I Tw ¥ e it & sfarla st 2 o E]

(A) TAI<TIN -0 (B) "YU

(C) s &) (D) g

NOIDA comes under which district of Uttar Pra‘?fﬁh i

(A) Bulandshahar : o) (B) Mathura

(C) Ghaziabad ' ‘ &) (D) Gautam-Buddha Nagar
122. T4 o1 feo Fa R ST@T £ 2

(A) 3 3R (B) 15 3 (©) 10 =g (D) 9 IFEER

When is World Post Day celebrated ?

(A) 3" October (B) 15" October Cl (€) 10" October (D) 9™ October
123. [T 2024 T | 7€ HATCH T F@ HH & 2 <]

(A) TEHE (B) T fiiE ] © [EREIEER O] (D) Afra e

Who heads the Union Ministry of Home Affairs gS}of June 2024 ?
(A) NarendraModi  (B) Rajnath Singh (7) (C) Nityanand Rai (D) Amit Shah

124. 3 Fere i <6 Tomae foe and 1 g€ oft 2 E}
The Indian National Congress was founded in wl@ah year ?
(A) 1905 (B) 1947 (C) 1857 (D) 1885

-="
- ==



125. T o1 U<l 8413 TSN ol W ey o1 2
(A) TEE (3T)
(€ Tt
Where was India’s first airport located ?
(A) Madras (Chennai)
(C) Delhi

(A) 2099 (B) TS09m@

o)

(B) et (5e73)
(D) AT (ShICTHIAT)

(B) Bombay (Mumbai)
(D) Calcutta (Kolkata)

@
126. ST & saEmEl % g, Yareil ¥, GST Sl & fou diviies ferfire (mm 7 2 2

(C) TsST™E (D) T109@

What is the threshold limit for GST registration for businesses in India, for services ?

(B) %50 lakhs

(D) %10 lakhs

(A) %20 lakhs EJ (C) TS5 lakhs

127. 3t gty et eh G o S, o S AT B S O T A e A
T Ea i rm s s R e O
(A) Firet R (B) FefERim " (C) VPN (D) Ffyi

X . = . A
uses images with malicious files in thf‘:ti‘x, meant to help a hacker steal your account information

or infect your computer.
(A) Image phishing  (B) Catfishing

128. FICRTET TR T TS T8 2
(A) ufeo (B) &S
What is the capital of Republic of Croatia ?
(A) Mexico City (B) Dubrovnik

129. Wﬁ@a@ﬁa@m#mmmaﬁaﬁﬁw

o

@ (C) VPN (D) Smishing
(C) ST (D) TZEH

[} (C) Zagreb (D) Amsterdam

]

gﬂ;ﬂfz‘fs{m%?

(A) mmmaﬁwqﬁﬁﬁmm@ﬁmﬁﬁwmﬁmﬁaﬁmﬁmm%l
(B) ¥ I3 ha Hedi A guR A E | ()
(C) E ST o HIRR G b SAfreh ASfLE TEa e e 2 |

(D) T BT 61 &HAT Tl FAel hLlT & |

od}
G

In what ways does information sharing become important in fighting terrorism ?

(A)
(B)
©
(D)

It improves relations with other countries.

It strengthens the military’s capabilities.

130.

(A) MR (B) A

Which of India’s neighbouring country is known as the

(A) Myanmar (B) Bhutan

It allows terrorist organizations to coordinate attacks more effectively through security agencies.

It allows authorities to identify potential threats more quickly.

STET ¥ o et 33T Y eiet 2 Y S{fEr 3 A & S ST e 2

(C) AUt (D) s
“Land of Thunder Dragon” ?
(D) Bangladesh



131.

132.

133.

134.

135.

136.

(A) F=EH (B) T ©€) (D) e
Which of the following is not a Social Media[aatfonn ?

(A) Instagram (B) Google < (C) Twitter (D) Facebook

. ]
Frrferfer 3 & foer T 7 S W (e g 2

(A) TR B) STIFT O (©) =i (D) o wg
Which ofth; following types of pollution is @tural (accelerated) eutrophication ?

(A) Soil pollution  (B) Water pollutions () Noise pollution (D) Thermal pollution

®
1946 % Farmiantor 3 SR RBI o TaR a9 9 9
(&) S wea (B) wiftheria ar
(C) TeramoT g 3@ (D) 2. geam

Who was the Governor of RBI during the demonetization in 1946 ?
(A) Uit Patel (B) Shaktikanta Das
(C) Chintaman Dwarakanath Deshmukh (D) D. Subbarao

Wﬁﬁunwaﬁmmmm%ﬁﬁrﬁ%s@@ﬁ&ma%?

(A) HITIV (B) wmv X (©) W (D) MW III

Which part of the Indian Constitution deals with the Directive Principles of State Policy ?

(A) Partlv (B) PartVv (C) Partll (D) Part III
ol$

Tereh Qs fererdie formn gry foredt g off 0 @)

(A) AT oE (B) Tdwia frurdt Frerr

(C) wered ant (D) ﬂﬁ?ﬁm{m

The book ‘A Life Misspent’ was written by whom ?
(A) Jawaharlal Nehru

(C) Mahadevi Verma

SR 6 Fer 1 e hror |

(A) TgH mpﬁmaj%maﬁrmﬁq@@m)
(B) 390 Srmst ot s (forerra O

(C)  SFet Ay 7 Iuftufy 0

(D) 3T < 0T 1 ehra 57 vy o3

The main reason for the blueness of the sky is@)

(A) the scattering of sunlight by air molecules
(B) the scattering of white light

(C) the presence of water vapour
(D) the absorption of blye light due to the air

(B) Suryakant Tripathi ‘Nirala’
(D) Maithilisharan Gupt

137. mwm,ﬁmmaﬁﬁwﬁw,m@aéqﬁé? )

(A) frke (B) = dfm (C) et (D)

Raman Subba Row, whe passed away recently, was associated with which sport ?

(A) Cricket (B)_ Table Tennis ) Football (D) Hockey .
GWZZd . ©rSSmere—eee



B mmﬁwwqawmw%? e
isl)lat is the name of th = W : : (C':) o ®
¢ longest river in Peninsular India ?
(A)  Godavari (B) Krishna (C) Mahanadi (D) Narmada
139. NHRC%TQ\UTF\qaqT%?
(A) e TR ez i, s ]
(B)  ¥TTel R s it efean 7
(C) et w1 T e, S [’;:*]
(D) et T T e,
What is the full form of NHRC ? E’)
(A) National Humanity Rights Commission, In 'ai'-J
(B) National Human Righteous Commission, I:Eég
(C) National Human Rights Commission, India (&)
(D) Natural Human Rights Commission, India
140, T 1985 T HH-TT ey ad s fm v o 2
(&) o= (B) wfeen © TR (D) Zam
The year 1985 was declared as the International Year of
(A) Children (B) Women i (C) Blind (D) Youth
141. FTEH %ﬁﬁmﬁ'ﬁuﬁ%mﬁw&:mmmmaﬁtmﬁaﬁaﬂrwwﬁ
HETIAT A & | ]
(A) fabtm Eg(B) RAUSEd
©) T (~y(D) e
research methods allow for in-depth aElS further probing and questioning of respondents based
on their responses. o
(A) Mixed (2)(B) Qualitative
(C) Action (D) Quantitative
142. BRIF QU €9 TR 7
(A) SR TE U 3hRmRe (B) 3 e e sl
(C) e e frard sffimfen (D) s e fuafeere de&h
What is the full form of BRI ? [j
(A) Belt and Road Initiative q.:](B) Basic and Road Initiative
(C) Belt and Resource Initiative [w-\]'(D) Belt and Republic Industry
143, frfRre suferalt =it 3w T i e A1 S i P o § ek Ry FmaR E
(A) B B) o el ()(C) wmer =it (D) whid
tries to trick specific individualsli&to jeopardizing the security of the organization they
work for. C@S
(A) Spamming (B) Spear phishing (r’»'a)(C) Cyberstalking (D) Sfle_a_k_lf‘_g _______________
Gwzz24, T
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144, TR ST iy =fife et SR TS <R 2

aty D) = 2002
A= 2004 (B) 2004 (C) E\Fﬂé 2000 (D)

i\}f\l:cn was the first ever National Agriculture Policy announced ? (D) March 2002
(A) M:\rch 2004 (B) January 2004 (C) July 2000

; HEATRRR
s A St AT PR 35 S 35 forg o g WAIeRIE ST Y H T
- WFU_WWMWI

The United Nations Commission on Hum
Council for the enforcement of internation

(A) 2006 (B) 1998

i i Right
an Rights wag replaced with the United Nations Human Rights
al human rights law in the year

[]€©) 2000 (D) 2001
146. W%W-wﬂ%?’mﬁmﬁqﬁ?mﬁﬁﬁﬁ?q

(A) Rrawr Smm (B) fem ey H(C) 2 frer (D) W%h
Who is the first person to run across Africa ? ()
(A) Sisay Lemma (B) Kenenisa Bekele ['.A:](C) Dennis Kimetto (D) Russ Cook
ol
147, wwaﬂmwﬂﬁmﬁmwmaﬁ@mmmw%mmﬁmﬁ
AHRR 2
(A) =R (B) wiveem (C) 3T (D) uRFEam
The Indian Agricultural

Research Institute has demanded legal action against which country for cultivating
basmati varieties protected in India ?

(A) Myanmar (B) Bangladesh I ](C) Afghanistan

: (D) Pakistan

f‘a:@imm%?

V. %)

C2(C) TRy (D) 3ifeem
S unique ‘Warlilﬁ.pjaintings N

(B) Rajasthan

148, ﬁ-mwnmmmm@‘an?ﬁ’ﬁam%

(A) HERTSE (B) US=ImM
Which Indian state is known for it
(A) Maharashtra

3 (C) Madhya Pradesh (D) Odisha
(3)
149, ‘W’@WWW%MWWW%Mwﬁgeﬂ ?
(A) @IS (B) wer (C) T (D) aIrrory
“Chikankari» is a traditional embroidery style that originated in which city of Uttar Pradesh 9
(A) Lucknow (B) Noida []© P ayagraj (D) Varanasi
150. Ty SHRATHTT it STrefirer zhmcor army 2 [
(A) W—mmcozmaﬂsﬁm 03 (B) O @ P o
() sreaferes weett yaremy L (D) WS ok A g
What is the Primary cause of ocean acidification 1. :!
0% 9 oenile
(A) Absorption of CO, by sea-water ) (B) Oil spills
(C) Overfishing

"" (D) Increase in sea-water temperature
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